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<=F5DD5=EG G5D57 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==!N E5FL <�=F5D=5F> > I{eHTpy
6<45><>�<F>D<=74 $�' <$>E%FD>=�>=FD>?N>.

, �4<5DO 6<45>=45?N45=<O GEF4=46JI<64NFEO, <EE>4O <7 <4>E<<4?L=> MDD5>F<6=>7> <
������� �&$4�5��O E�44 6O?>?=5=<O D45>F =4 6E5E GG4EF>ilE >5N5>F4 EFD><F5?LEF64, 4 F4>65
>>=FD>?O 57> >55E?5G5==>EF< ?N4E><<< < F5E=<G5E><<< D5EGDE4<<.

$l+r>F<>=<D>64=<5 IP-KaMep >EGM5EF6?O5FEO E <E?>?L7>64=<5< >4=4?4 ?5D544G<
44==LrE G5D57 E5FL >�=F5D=5F), ?D< 57> >FEGFEF6<< - E <E?>?L7>64=<5< �G < 4G <>45<>6.
�4>47G<>G 4>?6=4 5OFL ?D54>EF46?5=4 rtsD-EEO?>4 =4 FD4=E?OF<N 6 E5FL �=F5D=5F.

�5 GEF4=>6>5, 45<>=F465, ?5D5=>E5 KzlJttep 6<45>=45?N45=<O �>4DO4G<> >5O74=
>?>65M4FL �4>47G<>4 < $�' <$>E%FD>=�>=FD>?LD GEF4=>6?5==O< ?>DO4>>< < =4
M?5>FD>==}F> ?>GFG E4m5r4@fE-rsk.ru.
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,.-?O ?>47>F>6>< >FG5F>6 > E>45 6O?>?=5=<O D45>F ?> EFD><F5?LEF6G �5N5>F4 �>4DO4G<>
>5O74= ?> 74?D>EG �4>47G<>4 ?D54EF46JuIFL 6 ED>>, GEF4=>6?5==O= �4>47G<>><,
E>>F65FEF6GNMGN <=D>D<4F<N (D>F>7D4D<<, E?D46><, ?5D5G=<, F5>EF>6O5 <4F5D<4,FO < F-?.).

.-> =4G4?4 ?D><76>4EF64 D45>F �>4DO4G<> >5O74= <77>F>6<FL < D47<5EF<FL =4 >5N5>F5
lF4E?>DF >5N5>F4 (44?55 - 5D5=?5lt<), <77>F>6<FL < D47<5EF<FL =4 D4E444E >5N5>F>6 ?>E?5
7465DL5=<O EFD><F5?LEF64 >>=EFDG>F<< E 5D5=45G>>< 6 F5?OE 6=54D5=<O 54<=>7> D>D<4F4
5D5=4<D>64=<O =4 >5N5>F4E =4F<>=4?L=LD( ?D>5>F>6.

4.2.34. �55E?5G<FL =4JI<G<5 =4 EFD><F5?L=>= ??>M44>5 ?D>5>F=>= 4>>}<>=F4F<<,
D45>65= 4>>}<5=F4F<<, 4 Fal>65 <=>= F5E=<G5E>>= < D47D5L<F5?L=>= 4>>G<5=F4F<<,
=5>5E>4<<>= 4?O 6O?>?=5=<O D45>F, 6 F>< G<E?5 >5M57> < E?5F<4?L=L6 6}D=4?>6 D45>F, 4
F4>65 >55E?5G<FL E6>5>4=O= 4>EFG? > F4>>= 4>>Dt5=F4F<< ?D54EF46<F5?O< 74>47G<>4, ?<FG,
>EGM5EF6JIONM5<G 7>EG44DEF65==L= EFD><F5?L=O= =447>D.

4.2.35. �55E?5G<FL IID54EF46<F5?O< 74>i6G<>4 6>7<>6=>EFL >EGM5EF6?OFL >>=FD>JIL 74
E>4>< 6O?>?=5=<O D45>F, >4G5EF6>< ?D<<5=O5<OE ?D< EFD><F5?LEF65 >5N5>F4 <4F5D<ar?>6,
<745?<=, >>�EFD}>F<= < >5>DG4>64=<O.

4.2.36. 'EFD4=OFL 74 E6>= EG5F 6 ED>>, GEF4l=>6?5==O= >D74=>< 7>EG44DEF65==>7>
EFD><F5?L=>7> =447>D4! =54>EF4F>< (?5D5>FO) D45>F, 6OO6?5==O5 Ft6<< >D74=>< 6 E>45
?D>65D>< E>>F65FEF6<O ?>EFD>5==>7> >5N5>F4 >4?<FaLL=>7> EFD><F5?LEF64 FD55>64=<O<
?D>5>F=>= 4>>G<5=F4F<<, 6 F>< G<E?5 FD55>64=<O< M=5D75F<G5E>>= MDD5>F<6=>EF< <
FD55>64=<O< >E=4M5==>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 ?D<5>D4<< GG5F4
<E?>?L7G5<OE M=5D75F<G5E><E D5EGDE>6, >>F>DO5 ?>E?G6<?< >E=>64=<5< 4?O >F>474 6 6LF4G5
74>JING5=<O > E>>F65FEF6<< < (<?<) 6 6LF4G5 74>?NG5=<O D545D4?L=>7> 7>EG44DEF65==>7>
M>>?>7<G5E>>7> =447>D4 (6 E?GG4OE, ?D54GE<>FD5==OE 74>>=>44F5?LEF6>< $>EE<=E>>=
$545D4F<< 6 >5?4EF< >ED4=O >>DG64NM5= ED54O).

, �5D544FL 74>47G<>G <E?>?=<F5?L�GN 4>>}<5=F4F<N =4 6O?>?=5==O5 D45>FO 6 >5N5<5
< E>EF465, =5>5E>4<<>< 4JIO ?>?GG5�<O 74>JING5=<O >D74=4 7>EG44DEF65==>7> EFD><F5?L=>7>
=447>D4 > E>>F65FEF6<< ?>EFD>5==>7> >5N5>F4 >4?<F4?L=>7> EF><F5?LEF64 FD55>64=<O<
?D>5>F=>= 4>>D{5=F4F<<, 6 F>< G<E?5 FD55>64=<O< M=5D75F<G5E>>= MDD5>7<6=>EF< <
FD55>64=<O< >E=4M5==>EF< >5N5>F4 >4?<Fil?L=>7> EFD><F5?LEF64 ?D<5>D4<< }?{5F4
<E?>?L7G5<OE M=5D75F<G5E><E D5EGDE>6, < (<?<) 74>?NG5=<O D545D4;rL=>7> 7>EG44DEF6s==>7>
M>>?>7<G5E>>7> =447>D4 (6 E?GG4OE, ?D54GE<>FD5==OE 74>>=>44F5?LEF6>< $>EE<=E>>=
$545D4F<< 6 >5?4EF< >ED4=O >>DG64NM5= ED54O), 4 F4>65 D47D5L5=<O =4 66>4 >5N5>F4 6
M>E??G4F4F<N.

4.2,�7. �>?DO?G<> 74D4=F<DG5F 6O?>?=5=<5 D45>F E =44?564M<< >4G5EF6>< 6
E>>F65FEF6<< E ?D>5>F=>= 4>>G<5=F4F<5= < GE?>6<O<< �>=FD4>F4, 6 F>< G<E?5 E
E>5?N45=<5< FD55>64=<= F5E=<G5E><E D57?4<5=F>6, E E>5?N45=<5< ?D46<?, GEF4=>6?5==LIE
EF4=44DFal<<, E6>44N{< ?Dll6<?, GEFD4=5=<5 =54>EF4F>>6 (?5D5>F>6), 6L<6?5==LD( ?D< ?D<5<>5

D45>F < (<?<) >5=4DG65==L?< 6 ?D545?4E 74D4=F<==>7> ED>>4, ?D54GE<>FD5==>7> >>=FD4>F><.
4.2.�7.1. �>4DO4G<> =5E5F >F65FEF65==>EFL ?5D54 74>47G<>>< 74 4>?GM5��O5

>FEFG??5=<O >F ?D>5>F=>= 4>>Gr{5=F4F<<'4.2.38. �O?>?=<FL 4> =4?D46?5=<O G654><?5=<O > 7465DL5=<< EF)><F5?LEF64 >5N5>F4
?D54GE<>F5==O5 ?D>5>F=>= < D45>G5= 4>>G<5=F4F<5= ?GE>>�4?44>G=O5 D45>FO <
>><??5>E=>9 >?D>5>64=<5 >5>DG4>64=<O, E>7?4E>64FL ?D>7D4<<G ?D>6545=<O
?GE�>=4?44>G=OE D45>F E ?D>5>F=>= >D74=<74F<5= < >D>D<<FL <E D57GJILF4FO 6 E>>F65FEF6<<
E FD55>64=<O<< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< < ?D>5>F=>= 4>>G?t5=F4F<<.
$57G?LF4FO 6O?>?=5=<O ?GE>>=4?44>G=LrE D45>F < >><??5>E=>7> >?D>5>64=<O >5>DG4>64=<O
>D>D<?ONFEO 4>F4<< < / <?< >FG5F4<<.

4.2.39. 'EFD4=OFL 74 E6>= EG5F 6LuI6?5==O5 6 ?D>F5EE5 6O?>?=5=<O D45>F < ?>E?5 <E
7465DL5=<O 6 74D4=F<==L= ED>> =54>EF4F>< (45D5>FO) D45>F, 6>7=<>L<5 6E?54EF6<5
=56LL>?=5=<O < (<?<) =5=44?564M57> 6LL>?=5=<O D45>F ?>4DO4G<>>< < (<?<) FD5FL<<<
?<F4<<, ?D<6?5G5==LI<< << &,IO 6O?>?=5=<O D45>F, 4 6 E?GG45, 5E?< G>474==O5 =54>EF4F><
(?5D5>FO) ?D<G<=<JI< G5OF>< 74>47G<>G < (<?<) FD5FL<< ?<F4<, 6>7<5EF<FL G5L?>< 6 ?>?=><
>5N5<5 6 E>>F65FEF6<< E 7D4644=E><< 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<.

4.2.40. �E?>?=OFL <�O5 >5O74==>EF<, ?D54GE<>FD9==O5 4DG7<<< D4745?4}.1< �>=FD4>F4 <
?D<?>65=<O<< > =5<G.
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5. �D464 < >5O74==>g7? �4>47G<>4

5. 1. �?O 6O?>?=5=<O =4EF>OM57> �>=FD4>F4 �4>47,L> >5O7G5FEO:
5,1.1. %> 4=O 7{6?NG5=<O >>�FD4>F4 >EGM5EF6JuIFL E>45=EF6<5 ?>4DO4G<>G 6 <E?>?=5=<<

<< E6><E >5O74F5?LEF6 ?> >>=FDa!>FG, 4 F4>65 >EGM5EF6?OFL 45=EF6<O, ?>76>?ONM<5
?>4DO4G<>G ?D<EFG?<FL > 6O?>?=5=<N D45>F < E6>56D5<5F=> 6O?>?=<FL D45>FO, 5E?< 6
%��&�5&%&��� % �4�����4&5?LEF6>< $>EE<�E>>� $545D4F<< >EGM5EF6?5=<5 F4><E 45=EF6<=
6>7?>65=> =4 74>zL7G<>4-

5.1.2. � F5G5=<5 3 (FD5E) D45>G<E 4=5= E> 4=O, E?54GNM57> 74 4=g< 74>?NG5=<O
>>=]D4>F4, ?5D544FL ?>4DO4G<>G ?> 4>FG ?D<5<4-?5D544G< 75<5?L=O= )^racFo>, 4 F4>65
4>>}<5=FO, >>F>DO5 >?D545?5=O ?D<?>65=<5< > >>=FD4>FG, O6?ONM<<EO 57> =5>FL5<?5<>=
G4EFLN, 4 6 E?GG45 ?>?GG5=<O <>F<6<D>64==>7> >F>474 ?>4DO4G<>4 >F ?>4?<Eal=<O ?D>5>F4
4>F4 ?D<5<4-?5D544G< >EGM5EF6<FL >4=> <7 E?54GNM<E 45=EF6<=:

-6 F5G5=<5 3 (FD5E) D45>G<E 4=5= E> 4=O, E?54GNM57> 74 4=5< ?>?},G5=<O
<>F<6<D>64==>7> >F>474 ?>4DO4G<>4 >F ?>4?<E4=<O ?D>5>F4 4>F4 ?D<5<4-?5D544G<,
GEFD4=<FL 74<5G4=<O, G>474==O5 6 F4>>< <>F<6<D>64==>< >F>475, < ?>6F>D=> ?5D544FL
?>4DO4G<>G ?> 4>FG ?D<5<4-?5D544G< 75<5?L=O= rI4EF>>, 4 F4>65 4>>G<5=FO, >>F>DO5
>?D545?5=O ?D<?>65=<5< > >>=FD4>FG, O6?ONM<<EO 57> =5>FN5<?5<>= G4EFLN;

-E>7?4E>64FL E ?>4DO4G<>>< =>6O= ED>> ?5D544G< 75<5?L=>7> G{4EF>4 < 4>G?rr5=F>6 (6
%�''45, 5%�< 6 GEF4=>6?5==O� >>=Fl4>F>< ED>> =56>7<>6=> GEF4=<FL 7itIrr5G4=<O, )>i64==O5
6 <>F<6<D>64==>< >F>475 ?>4DO4G<>4 >F ?>4?<Ezl=<O ?D>5>F4 a6F4 ?D<5<4-?5D544G<);

-=4?D46<FL ?>4DO4G<>G FD55>64=<5 > ?D<5<>5 ?> al>Ty ?D<5<4-?5D544G< 75<5?L=>7>
GG4EF>4, 4 F4>65 4>>G<5=F>6, >>F>DO5 >?D545?5�O ?D<?>65=<5< > >>=FD4>FG, O6JUINM<<EO
57> =5>FN5<?5<>= G4EFLN, E G>474=<5< ?D<G<= >F>474 74>47G<>4 >F GEFD4=q=<O 74<5G4=<=,
G>474==LtE 6 <>F<6<D>64==>< >F>a65 ?>4DO4G<>4 >F ?>4?<E4=<O ?D>5>F4 4>F4 ?D<5<4-
?5D544G<.

5.1.3. �55E?5G<FL 4>EFG? ?5DE>=ar?4 ?>4DO4G<>4 =4 EF><F5?L=}.N ??>M44>G.
5.1.4. �F?D46?OFL ?>4DO4G<>G 6 ED>>< < ?>DO4>5, >>F>DO5 >?D545?5=O KoETpitKToM,

>F65FO =4 G654><?5=<O! >5D4M5=<O, FD55>64=<O, ?D54?>65=<O < <=O5 E>>5M5=<O, E6O74==O5

E <E?>?=5=<5< >5O74F5?LEF6 EF>D>= ?> >>=FD4>FG. '654><?5=<O, >5D4M5=<O, FD55>64=<O,
?D54?>65=<O < <=O5 E>>5M5=<O ?>4DO4G<>4 E >?<E4=<5< 6>7=<>L5= ?D< <E?>?=5=<<
>>=F)4>F4 ?D>5?5<O < (<?<) ?D54?>65=<5< ?> 55 D5L5=<N, => =5 E6O74==O5 E <7<5=5=<5<
EGMUEF65==L6 GE?>6<= >>=F)4>F4 ?<5> GD57G?<D>64=<5< E?>D>6, D4EE<4F<64NFEO
74>47G<>>< 6 F5G5=<5 l0 D45>.?.rE 4=5= E> 4=O <E ?>EFG??5=<O, 5E?< <=>= ED>> =5 GEFll=>6?5=
>>=FD4>F><.

- 5.1.5. � ED>>< < ?>DO4>5, >>F>DO5 ?D54GE<>FD5=O >>�FD4>F><, E GG4EF<5< ?>4DO4G<>4
>E<>FD5FL < ?D<=OFL 6Li?>?=5==O5 D45>FO (<E D57G?LF4F), 4 ?D< >5=4DG65=<< >FEFG??5=<= >F
>>=FD4>F4, 6 F>< G<E?5 GEG4L4NM<E D57G?LF4F D45>F, <?< <=OE =54>EF4F>>6 6 D45>F4E
=5<54?5==> 74O6<FL >5 MF>< ?>4DO4G<>G.

5.1.6. �D>6>4<FL E4<>EF>OF5?L=> <?< E ?D<6?5G5=<5< M>E?5DF>6, M>E?5DF=L6
>D74=<74F<= M>E?5DF<7G ?D54EF46?5==>7> ?>4DO4G<>>< D57G?LF4F4 6O?>?=5==OE D45>F 6
G4EF< 57> E>>F65FEF6<O GE?>6<O< >>=FD4>F4. �4>47G<> ?D>6>4<F M>E?5DF<7G D57G?LF4F>6
D45>F, ?D54GE<>FD5==OE KoHTpalKToM, E4<>EF>OF5?L=> <?< E ?D<6?5G5=<5< M>E?5DF>6,
M>E?5DF=LD( >D74=<74F<= =4 >E=>6:l=<< >>=F4>F>6, 74>JING5==LIE 6 E>>F65FEF6<< E
$545D4?L=L< 74>>=>< N9 44-$�.

5.1.7. � E?GG45 ?D>ED>G>< <E?>?=5=<O ?>4DO4G<>>< >5O74F5?LEF6, ?D54GE<>ID5==OE
���&4�&�< (6 F>< G<E?5 74D4=F<�=>7> >5O74F5?LEF64), 4 F4>65 6 <=OE E?GG<E =5<E?>?=5=<O
<?< ,=5�44?564M57> <E?>?=5=<O ?>4DO4G<>>< >5O74F5?LEF6, ?D54GE<>FD5==LD( >>=FD4>F><,
=4?D46?OFL ?>4DO4G<>G FD55>64=<5 >5 G??4F5 =5GEF>5> (LFD4D>6, ?5=5=).

5.1.8. � E?GGtFE < ?>DO4>5, >>F>DO5 GEF4=>6?5=O 74>>=>44F5?LEF6>< $>EE<=E>>=
$545D4F<< > >>=FD4>F=>= E<EF5<5 6 ED5D5 74>G?>>, E?<EO64FL EG<<O =5GEF>5> (LFD4D>6,
�5�5�), =4G<E?5==OE ?>4DO4G<>G, => =5 E?<Etl==LD( 7il>&}G<>>< 6 E6O7< E =5<E?>JL5=<5< <?<
=5=44JI564M<< <E?>?=5=<5< ?>4DO4G<>>< >5O74F5?LEF6, ?D54GE<>F5==OE >>=F4>F><.
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5.1.9. � F5G5=<5 5 (?OF<) D45>G<E 4=5= E 44FO 74>?NG5=<O >>=F4>74 ?5D544FL
�>4DO4G<>G >>?<N D47D5L5=<O =4 EF><F5?LEF6> �5N5>F4.

5. l .l 0. �55E?5G<FL ?D<5<>G 6O?>?=5==LIE �>4DO4G<>>< D45>F ?> �5N5>FG.
5.1.1l. �??4.F<64FL 6O?>?=5==O5 ?> KoHFprlKTy D45>FO 6 E>>F65FEF6<< E GE?>6<O<<

>>=FD4>F4.
5.1.12. � F5G5=<5 3 (FD5E) D45>G<E 4=5= E 44FO 74>J]NG5=<O �>=FD4>74 ?> 4>FG ?D<U<4_

?5D544G< ?5D544FL �>?DO?G<>G =4 5}rrt46=>< =>E<F5?5 M>75<??OD ?D>5>7=>= < D45>G5=
4>>G<5=F4F<<, <<5NM5= ?>?>6<F5?L=>5 74>JING5=<5 7>EG44DEF65==>= M>E?5DF<7O.

5.1.13. �D< ?>?)?{5=<< E>>5M5=<O >F �>4DO4G<>4 > 6OO6?5==LrE 6 ?D>F5EE5 6O?>?�5=<O
6E>4=>7> >>=FD>?O ?D>5>F=>= 4>>)N,t5=F4F<< >L<5>4E ?5D544FL �>4DO4G<>G E>7?4E>64==>5 E
?D>q>7=>= >D74=<74F<5= D5L5=<5.

5.1.14. �D< 7465DL5=<< D45>F ?> �5N5>7G ?>4?<E4FL arKT > E>>F65FEF6<< E>EF>O=<O
75<5?L=>7> GG4EF>4 GE?>6}lO< �>=FD4>74.

5.1.15. �O?>?=<FL 6 ?>?=>< >5N5<5 6E5 E6>< >5O74F5?LEF64 ?D54GE<>FD5Il=O5
=4Ei>OM<< �>=FD4>7>< < ?D<?>65=FO<< > =5<G.

5.2. !?O 6O?>?=5=<O =4EF>OM57> �>=FD4>F4 �4>47G<> <<55F ?Dal6>:

5.2.1. �5D544FL FD5FL<< ?<F4< DG=>F<< ?> >EGM5EF6?5=<N EFD><F5?L=>7> >>=FD>JIO.
5.2.2. %4<>EF>OF5?L=> < (<?<) G5D57 G?>?=><>G5==>5 �4>47G<>>< ?<F> >EGM5EF6JIOFL

EFD><F5?L=O= >>=F>?L, 4 F4>65 >>=FD>?L 74 E>5r?>45=<5< ED>>>6 6O?>?=5=<O D45>F,
>4G5EF6>< ?D54>EFil6?5==OE �>4DO4G<>>< EFD<F5?L=LD( <4F5D<4?>6.
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5.2-5- &D55>64FL >F ?>4DO4<>4 =44?564M57> < E6>56D5<5==>7> 6O?>?=5�<O
>5O74F5?LEF6, ?D54GE<>FD5==L7E >>=FD4>F><.
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�?44<<<DE>>= >5?4EF< >F |9.12.2022 Ns 2U|24, D4EG5FO ?> >>=FD4>FG ?>4?564F
>47=4G5=E>><G E>?D>6>645=<N E GG5F>< GE?>6<=, <7?>65==LIE 6 D4745?5 13 �>=FD4>F4.

6.1.2. �??4F4 6O?>?=5==LIE D45>F >EGM5EF6?O5FEO =4 >E=>6{r=<< ?>4?<E4?=>7>
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=54>EF4F>>6 6 D47D?=O= ED>>, E>D47<5D=>7> G<5=LL5=<O EF><<>EF< D45>F ?> =4EF>OM5<G
�>=FD4>FG <?< =4 >E=>6il=<< ?. 14.11 =4EF>OM57> �>=FD4>F4 6>7<5M5=<O E6><E D4EE>4>6 =4

GEFD4=5=<5 =54>EF4F>>6 6 E>>F65FEF6<< E> EF4FL5= 727 �D4644=E>>7> >>45>E4 $>EE<=E>>=
$545D4L<<.

�D< >FEGFEF6<< ?>?>6<F5?L=OE D57G?LF4F>6 <E?OF4=<= < M>E?5DF<7O, F> 5EFL ?D<
6LL>?=5=<< D45>F E =54>EF4F>4lG{<, >>F>DO5 O6?ONFEO EGM5EF65==O<< < =5GEFD4=<<LL< <
<E>JING4NF 6>7<>6=>EFL <E?>?L7>64=<O �5N5>F4 4?O G>4}4==>= 6 �>=FD4>r5 F5?< < >>F>DO5
=5 <>7}F 5L?L GEFD4=5=O �4>47G<>>< <?< �>4DO4G<>><, �4>47G<> <<55F ?D46> >F>4}4FLEO >F
?>4?<E4=<O 4>>D{5=F>6 > ?D<5<>5 6 E>>F65FEF6<< E> EF4FL5= 753 �D4644=E>>7> >>45>E4
$>EE<=E>>= $545D4F<<.

.7.8. �D< <E?>?=5=<< >>=FD4>F4 (74 <E>?NG5=<5< E?GG456, >>F>DO5 ?D54GE<>F5=O
=>D<4F<6=O<< ?D46>6O<< 4>F4<<, ?D<=OFLL< 6 E>>F65FEF6<< E G4EFLN 5 EF4FL< 14
$545D4?L=>7> 74>>=4 }D 44-$�) ?> E>7?4E>64=<N E �4>MG<>>< �>4DO4G<>>< 4>?GE>45FEO
6O?>?=5=<5 D45>F, >4G5EF6>, F5E=<G5E><5 < DGN>F<>=4?L=O5 E4D4>75D<EF<><
(?>FD55<F5?LE><5 E6>=EF64) >>F>DOE O6?ONFEO G?rIL5==O<< ?> ED46=5=<N E >4G5EF6>< <
E>>F65FEF6}.NM<<< F5E=<G5E><<< < DG=>F<>=<L=LI<< E4D4>F5D<EF<>zlI\,l<, G>474==O<< 6
>>=FD4>F5.

7.9. $45>FO ?> >>�F4>FG 6O?>?=ONFEO =5?D5DO6=>. �4>47G<> < ?>4DO4G<>, 74
<E>JlNG5=<5< E?GG456, GEF4=>6?5==LIE 74>>?>44F5?LEF6>< $>EE<=E>>= $545D4F<<,
>>=FD�6F><, =5 6?D465 ?D<>EF4=46?<64FL 6O?>?=5=<5 D45>F

8. �>DO4>> ?D<5<>= 6O?>?=5==OE D45>F

' 8.1. �D<5<>4 < >??4F4 6O?>?=5==LD( D45>F, 6 F>< G<E?5 <E '>>=EFDG>F<6=LD( M?5<5=F>6,
>EGM5EF6JlO5FEO =4 >E=>64=<< ?5D6<ILLD( GG5F=LD( 4>>GN{5=F>6, ?>4F65D64ttNM<E <E
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6O?>?=5=<5 6 E>>F65FEF6?< E GE?>6<O<< �>=FD4>F4 < ?D54>EF46?5==L?< �4>47G<>G 74 10

(?5EOFL) D45>G<E 4=5= 4> >>>=Gal=<O E44G< D45>F, E>EF46?5==OE ?>E?5 7465DL5�<O
6OIN?=5=<O >>=EFDG>F<6=LD( D5L5=<= (M?5<5=F>6), >><??5>E>6 (6<4>6) D45>F (MF4?>6 D45>F)
=4 >E=>64=<< E<5FO �>=FD4>F4, �D4D<>4 6O?>?=5=<O EFD><F5?L=>-<>=F46=L7< D45>F,
6O?>?=5=<5 D45>F ?> EFD><F5?LEF6G �5N5>74, < 7D4D<>4 >??4FO 6O?>?=5==LrE D45>F (?D<

=4?<G<<), GE?>6<O<< >>=FD4>F4, 6 E>>F65FEF6<< E �D4644=E><< >>45>E>< $>EE<=E>>=
$545D4F<<.

8.1.1, �D< ?D<5<>5 6O?>?=5==OE D45>F =5 >EGM5EF6?O5FEO E>?>EF46?5=<5 F5E=>?>7<<
?D><76>4EF64 D4>F<G5E>< 6O?>?=5==L6 D45>F F5E=>?>7<O<, ?D<=OFO< ?D< D47D45>F>5
E<5F=OE =>D<4F<6>6, 4 F4>65 =5 6LF5?O5FEO EF><<>EFL )4F5==OE 6 F5=5 >>=EFG>F<6=LD(

D5L5=<= (M?5<5=F>6) < (<?<) >><??5>E>6 (6<?>6) D45>F E<5FO >>=FD4>FF ?D>G<E D45>F <

74FD4F (6 F>< G<E?5 7<<=55 G4>D>64=<5, >EGM5EF6?5=<5 D45>F BilxTo6bl< <5F>4><,
>><4=4<D>64=<5 D45>G<E, ?5D5547<D>64=<5 EF><F5?L=>-<>=F46=LrE >D74=<74F<=) < 74FD4F
=4 EFD><F5?LEF6> F<FG?L=LD( 6D5<5==LtE 744=<= < E>>DG65=<=, =5?D546<45==LrE D45>F <
74FD4F ?>4DO4G<>4. &4>65 ?D< ?D<5<>5 6LL>?=5==OE D45>F.=5 FD55G5FEO >5>E=>64=<5

DL<5D4 ?>�5E5==LrE ?>4DO4G<>>< D4EE>4>6 =4 6O?>?=5=<5 G>474==L7E D45>F < 74FD4F,

GGF5==L7E < =5 ?>4?564M<E 6LF5?5=<N 6 F5�5 >>=EFD}>F<6=LD( D5L5=<= (M?5<5=F>6) < (<?<)

>><??5>E>6 (6<4>6) D45>F E<5FO KoHTp{rKTa.

8.1.2. �D< �<<G<< =5>5E>4<<L?< ED54EF6 6 E6O7< E ?5D5D4E?D545?5=<5< >5N5<>6

D<=4=E<D>64=<O E ?>E?54}.NM<E ?5D<>4>6 =4 5>?55 D4��<5 ?5D<>4O �4>47G<> ?>
E>7?4E>64=<N E �5=?>4DO4G<>>< 6 E>>F65FEF6<< E 4>?>?O<F5?L=LI< E>7?4L5=<5< >
?5D5D4E?D545?5=<< >5N5<>6 D<=4=E<D>64=<O > �>=FD4>FG ?D<=<<45F 4>ED>G=> 6O?>?=5==O5
�5=?>4DO4G<>>< D45>FO < >??4G<645F <E 6 E>>F65FEF6<< E GE?>6<O<< �>=FD4N4 < �D4D<>><
>??4FO 6O?>?=5==OE D45>F (�D<?>65=<5 NG 5 > �>=FD4>7G).

8.1.3. �>>=G4F5?L=aL ?D<5<>4 D57G?LF4F>6 6O?>?=5==OE D45>F >EGM5EF6?O5FEO ?>E?5
6O?>?=5=<O ?>4DO4G<>>< 6E57> >5N5<4 D45>F ?> �>=FD4>ry.

8.2. �D<5<>4 E>DOFL6 D45>F < ?D<5<>4 >F65FEF65==LtE >>=EFDG>F<= G4>EF>65DO5FEO
E>>F65FEF65==> zlKToM >E6<45F5?LEF6>64=<O E>DLLOE D45>F < 4>F>< ?D><56G7>G=>= ?D<5<><
>F65FEF65==OE >>=EFDG>F<=, ?>4?<E4==O<< %F>D>=4<<.

� 7>F>6=>EF< E>DOFOE D45>F < 7>F>6O>EF< >F45?L=LD( oTBeTcTBeHHbD( >>=EFDG>G<=
�>4DO4G<> <765M45F �4>47G<>4 < 46F>DE><= =447>D ?D>5>F=>= >D74=<74F<< =5 <5�55 G5< 74 2
(?64) D45>G<E 4=O 4> =4G{r?4 ?D<5<>< E>>F65FEF6GNM<E D45>F.

�>4DO4G<> <>65F ?D<EFG?4FL > 6O?>?=5?<N ?>E?54},NM<E D45>F F>?L>> ?>E?5
?D<.5<>< �4>47G<>>< E>DOFLD( D45>F < E>EF46?5=<O zlKToB <E >E6<45F5JILEF6>64=<O. �E?<
74>DL7r<5 D45>F 6O?>?=5=> 557 ?>4F65D645=<O �4>47G<>4 6 E?GG45, >>744 >? =5 5O?
<=D>D<<D>64= >5 MF>< <?< <=D>D<<D>64= E >?>744=<5<, �>4DO4G<> >5O74= ?> FD55>6Lr<N
�4>47G<>4 74 E6>= EG5F 6E>DOFL ?N5GN G4EFL E>DOFL6 D45>F E>7?4E=> }>474=<N �4>47G<>4, 4

74F5< 6>EEF4=>6<FL 74 E6>= EG5F.
8.3. � E?Gl45 >5=4DG65=<O �4>47G<>>< =54>EF4F>>6 6 6O?>?=5==OE D45>F4E <r??

=5>4G5EF65==> 6O?>?=5==LD( D45>F %F>D>=4<< 6 F5G5=<5 5 (?OF<) D45>G<E 4=5= E>EF46lrOgFEO

46GEF>D>==<= 4>F E ?5D5G=5< 6L<6?5==LtE =54>EF4F>>6, =5>5E>4<<OE 4>D45>F>> < ED>>>< <E

GEFD4=5=<O. �>E?5 ?>4?<E4=<O 46GEF>D>==57> 4>F4 �>4DO4G<> >5O74= 6 E>7?4E>64?=L=
%F>D>=4<< ED>> E6><<< E<?il<< < 557 G65?<G5=<O F5=O �>=FD4>74, ?5D545?4FL D45>FO 4.rrO

GEFD4=5=<O =54>EF4F>>6 6O?>JI=5==LIE D45>F < >55E?5G5=<O <E =44lI564M57> >4G5EF64.
� E?GG45 >F>474 �>4DO4G<>4 ?>4?<E4FL 46GEF>D>==<= 4>F <?< G>JI>=5=<O >F 57>

?>4?<EtL<O 4>F E>EF46?O5FEO 6 >FEGFEF6<5 �>4DO4G<>4.
8.4. �4>47G<> 6?D465 4?O GEFD4=5=<O �54>EF4F>>6 6O?>?O5==LD( D45>F, <E?D46?5=<O

=5>4G5EF65�=> 6O?>?=5==LD( �>4DO4G<>>< D45>F ?D<6?5GL 6 ?>DO4>5, GEF4=>6?5==><
74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<, 4DGryN >D74=<74F<N E ?>E?54lF>M5= >??4F>=
?>=5E5==OE D4EE>4>6 74 EG5F �5=?>4DO4G<>4 6 E?r{45 =5<E?>?=5=<O <?< =5=44?564M57>
<E?>?=5=<O �>4DO4G<>>< >5O74==>EF< ?> GEFD4=5=<N =54>EF4F>>6, <E?Dzt6?5=<N
=5>4G5EF65==> 6O?>?=5==LFE D45>F.

.-?O ?D>65D>< >4G5EF64 6LL>?=5==LD( �>4DO4G<>>< D45>F �4>47G<> ?> ?D46<?4< G4EF< 3

EF4FL< 94 $545D4?L=>7> 74>>=4 � 44-$� ?D>6>4<F M>E?5DF<7G.
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8.5. �D<5<>4 �5N5>F4 ?>E?5 7465DL9=<O D45>F >EGM5EF6?O5FEO ?D< GE?>6<<
6O?>?=5=<O �>4DO4G<>>< 6E5E >5O74F5?LEF6 ?> �>=FD4>FG.

%44G4 �5N5>F4 ?>E?5 7465DL5=<O D45>F �>?DO?G<>>< < ?D<5<>4 57> �4>47G<>><
>D>D<,:rO5FEO 4>F>< ?D<5<>< 74>>=G5==>7> EFD><F5?LEF6>< >5N5>F4 (D>D<4 �% - 1l), 4>74
?D<5<>< 74>>=G5==>7> EFD><F5?LEF6>< >5N5>F4 ?D<5<>G=>= >><<EE<5= (D>D<4 �E-14).

8.6. �D<5<>4 D57G?LF4F>6 D45>F >EGM5EF6JuI5FEO 6 E?54GNM5< ?>DO4>5:
8.5.l. �>4DO4G<> 6 F5G5=<5 2 (46F) D45>G<E 4=5= E 44FO 6LL>?=5=<O D45>F (MF4?>6

<E?>?=5�<O �>=FD4>F4) D>D<<DG5F E <E?>?L7>6tt=<5< 54<=>= <=D>D<4F<>==>= E<EF5<O,
?>47i<ELF645F GE<?5==>= M?5>F>==>= ?>4?<ELN ?<F4, <<5NM57>'?D46> 45=EF6>64FL >F <<5=<
?>?DO?.*r>4 < D47<5M45F 6 54<=>= <=D>D<4F<>==>= E<EF5<5 .M>>lL5=F > ?D<5<>5, >>F>DL=
4>?65= E>45D64FL:

- l) 6>L>G5==O5 6 �>6FD4N <45=F<D<>4F<>==O= >>4 74>G?><, =4<<5=>64=<5, <5EF>
=4E>645=<O �4>47G<>4" =4<<5=>64=<5 >5N5>74 74>G?><, <5EF> 6LL>?=5=<O D45>F, 54<=<FG
<7<5D5=<O 6O?>?=5==>= D45>FO, E?54GNMGN <=D>D<4F<N > �>4DO4G<>5:

- ?>?=>5 < E>>D4M5==>5 (?D< =4-ll<G<<) =4<<5=>64=<5 ND<4<G5E>>7> ?<F4, 6 F>< tLE?5

<=>EFD4==>7> ND<4<G5E>>7> ?<F4 (5E?< ?>4DO4G<>>< O6?O5FEO ND<4<G5E>>5 ?<F>),
4>>D54<F>64==>7> D<?<4?4 <?< ?D54EF46<F5?LEF64 <=>EF4��>7> ND<4<G5E>>7> JI<F4 (5E?< >F
<<5=< <=>EFD4==>7> ND<4<G5E>>7> ?<F4 6OEFG?45F 4>>D54<F>64Ir=L= D<?<4? <JL
?D54EF46<F5?LEF6>), =4<<5=>64=<5 >5>E>5?5==>7> ?>4D4745?5=<O ND<4<G5E>>7> ?<F4 (5E?<
>F <<5=< ?>4DO4G<>4 6OEFG?45F >5>E>5?5==>5 ?>4D4745?5=<5 ND<4<G5E>>7> ?<F4), D4<<?<O,
<<O, >FG5EF6> (?D< =4?<G<<) (5E?< ?>4DO4wr>>< O6JIO5FEO D<7<G5E>>5 ?<F>, 6 F>< G<E?5
74D57<EF<D>64==>5 6 >4G5EF65 <=4<6<4G4?L=>7> ?D54?D<=<<4F5?O);

- 44D5E ND<4<G5E>>7> ?<F4, 6 F>< rLE?5 <=>EFD4==>7> ND<4<G5E>>7> ?<F4 (5E?<
?>4DO4G<>>< O6?O5FEO ND<4<G5E>>5 ?<F>) 6 ?D545?4E <5EF4 =4E>.645�<O ND<4<G5E>>7> ?<F4
44D5E (<5EF> =4E>645=<O) 4>>D54<F>64==>7> D<?<<4 <?< ?D54EF46<F5?LEF64 �4 F5DD<F>D<<
$>EE<=E>>= $545D4F<< (5E?< >F <<5=< <Il>EFDzl==>7> ND<4<G5E>>7> ?<F4 6OEFG?45F
4>>D54<F>64==O= D<?<4? <?< ?D54EF�l6<F5?LEF6>), 44D5E (<5EF> =4E>645?<O) >5>E>5?5==>7>
?>4Da645?5=<O ND<4<G5E>>7> ?<F4 (5E?< >F <<5=< ?>4DO4G<>4 6OEFG?45F >5>E>5?5==>5
?>4Di645?5=<5 ND<4rG5E>>7> ?<F4), <5EF> 6<F5?LEF64 D<7<G5E>>7> ?<F4, 6 F>< tLE?5

74D57<EFD<D>64==>7> 6 >4G5EF65 <=4<6<4G4?L=>7> ?D54?D<=<<4F5;rO (5E?< ?>4DO4G<>
O6?O5FEO D<7<G5E><< ?<F><, 6 F>< G<E?5 74D57<EF<D>6zl==LI< 6 >4G5EF65 <=4<6<4Gzr?L=>7>
?D54?D<=<<4F5?O), 4?D5E M?5>FD>==>= ?>GFO, �><5D >>=Fil>F=>7> F5?5D>=4;

- <45=F<D<>4F<>==O= =><5D =�I?>7>??4F5?LM<>4 ND<4<G5E>>7> ?<F4 (5E?<
?>4DO4I<>>< O6Jul5FEO ND<4<G5E>>5 ?<F>), 4>>D54<F>64==>7> D<?<4?4 <?<
?D54EF46<F5?LEF64 <=>EFD:l==>7> ND<4<G5E>>7> ?<F4 (5E?< >F <<5=< <=>EF4==>7>
ND<4<G5E>>7> ?<F4 6OEFG?45F 4>>D54<F>64==O= D<?<4? <JI< ?D54EF46<F5?LEF6>)>

D<7<G5E>>7> ?<F4, 6 F>< G<E?5 74D57<EFD<D>64==>7> 6 >4G5EF65 <=4<6<4G4?L=>7>
?D54?D<=<<4F5?O (5E?< ?>4DO4G<>>< O6JuI5FEO D<7<G5E>>5 ?<F>, 6 F>< G<E?5
74D57<EFD<D>64==>5 6 >4G5EF65 <=4?6<4G4?L=>7> ?D54?D<=<<4F5JIO), 4=Ml>7
<45=F<D<>4F<>==>7> =><5D4 �4JI>7>??4F5JILM<>4 6 E>>F65F>76<< E 7:>>�>44F5?LEF6><
E>>F65FEF6GNM57> <=>EF4?=>7> 7>EG44DEF64 (5E?< ?>4DO4G<>>< O6?O5FEO <=>EF4==>5
?<F>), >>4 ?D<G<=O ?>EF4=>6>< =4 GG5F ND<4<G5E>>7> ?<F4 (5E?< ?>4DO?L>>< O6JUI5FEO

ND<4<G5E>>5 ?<F>), 4>>D54<F>64�=>7> D??<Lr4 <?< ?D54EF46<F5?LEF64 <=>EF4==>7>
ND<4<G5E>>7> ?<F4 (5E?< >F <<5=< <=>EF4==>7> ND<4<G5E>>7> ?<F4 6OEFG?45F
4>>D54<F>64==O= D<?<4? <?< ?D54EF46<F5?LEF6>), >5>E>5?5==>7> ?>L)4745?5=<O
ND<4<G5E>>7> ?<F4 (5E?< >F <<5=< ?>4DO4G<>4 6OEF)F45F >5>E>5?5==>5 ?>4D4745?5=<5
ND<4<G5E>>7> ?<F4);

2) =4<<5=>64=<5 6LL>?=5==>= D45>FO;
3) =4<<5=>64=<5 ElD4=O ?D><EE>645=<O ?>EF46?5==>7> F>64D4 (6 E?rI45, 5E?< ?D<

6O?>?=5=<< D45>F >EGM5EF6?O5FEO ?>EF46>4 F>64D4);
4) <=D>D<4F<N > >>?<G5EF65 ?>EF46?5==>7> F>64D4 (6 E?GG45, 5E?< ?D< 6O?>?=5=<<

D45>F >EGM5EF6?O5FEO ?>EF46>4 F>64D4);
5) <=D>D<4F<N >5 >5N5<5 6LL>?=5==>= D45>FO;
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6) EF><<>EFL <E?>?=5==L6 �>4DO4.?.t>>< >5O74F5?LEF6, ?D54GE<>FD5}I=LrE �>=FD4>F><,
E G>574=<5< F56O 74 54<=<FG ?>EF46?5==>7> F>64D4 (6 E?GG45, EE?< ?D< 6LL>?=5=<< D45>F
>EGM5EF6?O5FEO ?>EF46>4 F>64D4), 6O?>?=5==>= D45>FO;

7) <=GN <=D>D<4F<N E GG5F>< FD55>64=<=, GEFtL>6?5==LD( 6 E>>F65FEF6<< E G4EFLN 3

EF4FL< 5 $545D4?L=>7> 74>>=4 Ns 44-$�.
8.6.2. � 4>>G<5=FG > ?D<5<>5 ?D<?t!7alNFEO E?54},NM<5 4>>),4?5=FO, >>F>DO5 EG<F4NFEO

57> =5>FN5<?5<>= G4EFLN: 4>F > ?D<5<>5 6LL>?=5==OE D45>F < E?D46>< > EF><<>EF<
6LL>?=5==LD( D45>F < 74FD4F ?> D>D<5 NG �%-3, ?>E?5 7465DL5=<O D45>F 4>7 ?D<5<><
74>>=G5==>7> EFD><F5?LEF6>< >5N5>F4 (D>D<4 �% - l1), 4>F4 ?D<5<>< 74>>=G5==>7>

EFD><F5?LEF6>< >5N5>74 ?D<5<>G=>= >><<EE<5= (D>D<4 �%-1 4).

� E?Gr45, 5E?< <=D>D<4F<O, E>45D64M4JIEO 6 ?D<?4745<L6 4>>G<5=F4E, =5
E>>F65FEF6G5F <=D>D<4G<<, E>45D64M5=EO 6 4>>G<5=F5 > ?D<5<>5, ?D<>D<F5F <<55F

<=D>D<4F<O. E>45D64M:FEO 6 4>>G<5=F5 > ?D<5<>5.
8.5.3. .->>G<5=F > ?D<5<>5, ?>4?<E4==O= �>4DO4G<>><, =5 ?>74=55 >4=>7> G4E4 E

<><5=F4 57> D47<5M5=<O 6 54<=>= <=D>D<4F<>==>= E<EF5<5 46F><4F<G5E>< E

<E?>?L7>6zL<5< 54<=>= <=D>D<4F<>==>= E<EF5<O =4?D46JIO5FEO �4>47G<>G. .-4F>=

?>EFG??5=<O �4>47G<>G 4>>},]!!5=F4 > ?D<5<>5, ?>4?<E4==>7> �>4DO4G<>><, EG<F45FEO 44F4

D47<5M5=<O 6 54<=>= <=D>D<4F<>==>= E<EF5<5 6 E>>F65FEF6<<'E G4E>6>= 7>=>=, 6 >>F>D>=

D4E?>?>65= �4>47G<>.
8.6.4. �D<5<>4 6O?>?=5==OE D45>F, ?> >464><G >>=EFDG>F<6=><G D5L5=<N (M?5<5=ry)
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6LF4GG G>474=}iOE 74>?NG5=<=. �4>47G<> 6 F5G5=<5 45EOF< D45>G<E 4=5= E 44FO ?>JryG5=<O

E>>F65FEF6GNM57> 74>?NG5=<O (74>?NG5=<=) < ?D54EF46?5=<O �>4DO4G<>>< <<5NM<EEO G
11..> ?>*G"""r>6, =5>5E>4<<OE 6 E>>F65FEF6<< E �D44>EFD><F5?LltO< >>45>�>< $>EE<=E>>=

$545D4F<< 4?O ?>?G{5=<O D47D5L5=<O =4 66>4 >5N5>F4 6 M>E??G4F4F<N, =!LDil6?O5F

4>>G<5=FO 6 >D74=O, G?>?=><>G5==O5 6 E>>F65FEF6<< E �D4?>EFD><F5?L=O< >>45>E><

D>EE<=E>>= $545D4F<< =4 6O44GG D47D5L5=<O =4 66>4 >5N5>F4 6 M>E??G4F4F<N,

8.15. �>?DO?G<> 74 2 (464) D45>G<E 4=O 4> ?D<=OF<O ?>EFD>5==>7> >5N5>F4 �4>47G<>><

?D54>EF46?O5F �4>47G<>G >55E?5G5=<5 74DLrF<==L7E >5O74F5?LEF6 6 E>>F65FEF6<< E D4745?><
14 =4EF>OF57> �>=FD4>F4. �>F ?D<5<>< ?>EFD>5==>7> >5N5>F4 ?>.MI<EO645FEO �4>47G<>><

?>E?5 ?D54>EF46?5=<O �>4DO4G<>>< >55E?5G5=<O 74D4=F<==L?< >5O74F5?LEF6,

9. >E=>64=<O < ?>DO4>> <7<5=5=<O < D4EF>D65=<O �>=FD4>F4

9.1. �7<5=5=<5 EGM5EF65=�O% GE?>6<= >>=F4>F4 ?D< 57> <E?>JL5=<< �5 4>?GE>45FEO,

74 <E>JING5=<5< <E <7<5=5=<O ?> E>7?4L5=<N EF>D>= 6 E?rlzu6, ?D54GE<>FD5==LD(

$545D4,,rL=L7< 74>>=>< Ns 44-$�.
9.2. $4EF>D65=<5 >>=FD4>F4 4>?GE>45FEO ?> E>7?�lL5=<N EF>D>=, ?> D5L5=<N EG44, 6

E?GG45 >4=>EF>D>==57> >F>474 EF>D>=O >>=FD4>F4 >F <E?>?=5=<O >>=F4>F4 FE>>F65FEF6<< E

7D4644=E><< 7zt>>=>44F5?LEF6><.
9.3. �4>47G<> 6?D465 ?D<=OFL D5L5=<5 >5 >4=>EF>D>�=5< >F>475 >F <E?>JI=5=<O

�>=FD4>F4 ?> >E=>64=<O<, ?D54GE<>FD5==L?r.t �D4644=E><< >>45>E>< $>EE<=E>>= $545D4F<<

4?O >4=>EF>D>==57> >F>474 >F <E?>?=5=<O >F45?L=LD( 6<4>6 >5O74F5JILEF6, 6 F>< G<E?5:

- 5E?< ?>4DO4G<> =5 ?D<EFG?45F E6>56D5<5==> > <E?>?=5�<N �>=FD4>F4 <?<

6O?>?=JI5F D45>FG =4EF>?L>> <54?5==>, GF> >>>=G4=<5 55 > ED>>G EF4=>6<FEO O6=>

�56>7<>6=O< (6 E>>F65FEF6<< E> EF4FL5= 715 �D4644=E>>7> >>45>E4 $>EE<=E>>= $545D4F<<);

. - =5GEFD4=5=<O �>4DO4G<>>< 6 GEF4=>6?5==O= �4>47G<>>< ED>> >FEFG??5=<= 6 D45>F5

>F GE?>6<= �>=FD4>F4, 654GM<E > GEG4L5=<N D57G?LF4F4 D45>F, ?D54GE<>FD5==>7> ?D>5>F><,

?<5> 6O?>?=5�<O �>4DO4G<>�< D45>F/ E =54>EF4F>4<�, O6JUINM<<<EO EGM5EF65==O<< <

=5GEFD.L<<O<< (6 E>>F65FEF6<< E> EF4FL5= 723 �D4644=E>>7> >>45>E4 $>EE<=E>>=

$5;i5D4F<<);

- E<EF5<4F<G5E>>5 (464 < 5>?55 D47) =5E>5?N?5=<5 �>4DO?G<>>< FD55>6zL<= >

>4G5EF6G D45>F;

- >FEGFEF6<O G �>?DO4G<>4 G?5=EF64 6 E4<>D57G?<DG5<>= >D74=<74F<<, =5>5E>4<<>7>

4?O <E?>?=5=<O >5O74F5?LEF6 ?> >>=FD4>ry (6 E>>F65FEF6<< E ?G=>F>< � EF4FL< 450,1

�D4644=E>>7> >>45>E4 $>EE<=E>>= $545D4F<<), 74 <E>?NG5=<5< EJtGG456, ?D54GE<>lD5=�OE

G4EFO<< 2.|,2.2 EF4FL< 52 �D4?>EFD><F5?L=>7> >>45>E4 $$;

- 6 <=L7E E?r{<E, ?D54GE<>FD5==L6 �D4644=E><< �>45>E>< $>EE<=E>>= $545D4F<<,

9.4. �>4DO4G<> 6?D465 ?D<=OFL D5L5=<5 >5 >4=>EF>D>==5< >F>475 >F <E?>?=5=<O

�>=FD4>F4 ?> >E=>64=<O<, ?D54GE<>FD5==O< �DrD>44=E><< >>45>E>< $>EE<=E>>= $545D4F<<

4?O >4=>EF>D>==57> >F>474 >F <E?>?It5=<O >F45?L=LIE 6<4>6 >5O74F5JILEF6, 6 F>< G<E?5:

- >>=E5D64F<� <?< >EF4=>6>� �4>47G<>>� EF><F5?LEF64 >5N5>F4 �� �$�'��4IGt, �5

746<EOM<< >F �>4DO4G<>4, =4 ED>>, ?D56OLllNM<= 464 <5EOF4. ,

9.5. �4>47G<> >5O7Lr ?D<=O7L D5L5=<5 >5 >4=>EF>D>==5< >F>475 >F <E?>JF=5=<O

>>=FD4>F4 ?> >E=>64=<O< < 6 ?>DO4>5, ?D54GE<>FD5==O< EF4FL5= 95 $545D4?L?>7> 74>>�4

44_$7.
9.6, �4>47G<> 6?D465 ?D>65EF< M>E?5DF<7G 6O?>?=5�=L7E D45>F E ?D<6?5G5=<5<

M>E?5DF>6, M>E?5DF=LrE >D74=<74F<= 4> ?D<=OF<O D5L5=<O >5 >4=>EF>D>==5< >F>:65 >F

<E?>?=5=<O >>=FD4>F4 6 E>>F65FEF6<< E G4EFLN 8 EF4FL< 95 $545D4?L=>7> 74>>=4 44-$�.

9.7. � E?Gl45 D4EF>D65=<O >>=FD4>F4 ?> E>7?4L5=<N %F>D>= >>=FD4>F FD5>D4M45F E6>5

45=EF6<5 E> 4�O, >?D545?5==>7> E>7?4L5=<5< > D4EF>D65�<< 74>JING5==>7> <564G =<<<

>>=FD4>F4.

I8



9.8. �>E?54EF6<O D4EF>D65=<O =4EF>OM57> >>=FD4>F4 >?D545JIIINFEO

E>7?4L5=<5< 57> %F>D>= <?< EG4>< ?> FD55>64=<N ?N5>= <7 %F>D>= >>=FD4>74.
674<<=O<

l0. �>DO4>> D47D5L5=<O E?>D>6

10.1. �N5O5 E?>D=O5 6>?D>EO, D47=>7?4E<O, 6>7=<>L<5 6 E>45 <E?>?=5=<O =4EF>OM57>

>>=FD4>74, Di6D5L4NFEO EF>D>=4<< 6 ?D5F5=7<>==>< ?>DO65: ?G75< ?5D57>6>D>6,

>D>D<?5=<O 4>?>JI=<F5?L=LD( E>7?4L5=<=, =aLD46?>=<O D4>E<<<?L=>=, ?>GF>6>=,

M?5>7D>==>= E6O7LN 6 44D5E EF>D>=O ?> �>=FD4>FG ?<E5< ?D5F5=7<>=�>7> E4D4>F5D4, ED>>

>F69F4 =4 >>F>DO5 �5 4>?65= ?D56OL4FL 45EOFL 4=5=,
l0.2. � E?GG45 =56>7<>6=>EF< GD57G?<D>64?<O E?>D=L= 6>?D>E>6 6 ?D5F5=7<>==><,

?>EG455=>< ?>DO4>5, E?>D=O5 6>?D>EO D47D5L4NFEO 6 E>>F65FEF6<< E 45=EF6)F>M<<

74>>=>44F5?LEF6>< $>EE<=E>>= $545D4G<< 6 �D5<FD46=>< EG45 �?44<<<DE>>= >5?4EF<.

l1. �ED4=4 D45>F

l1.1. �>4DO4G<> >55E?5G<645F =44?564MGN >ED4=G <4F5D<<>6, >5>DG4>64=<O,

EFD><F5?L=>= F5E=<>< < 4D}F>7> <<GM5EF64 =4 >5N5>F5 >F =4G4?4 D45>F 4> 7465DL5=<O $45>F

< ?>4?<E4=<O �4>47G<>>< �>F4 > ?D<5<>5 6O?>?=5�=OE D45>F 74 ?>E?54=<= >FG5F=O= ?5D<>4

< �>F4 ?D<5<>< 74>>=G5==>7> EFD><F5?LEF6>< >5N5>F4 ?D<5<>tL>= >><<EE<5= (D>D<4 �%-

l4) (6 F>< G<E?5, 6 E?)G45 =5>5E>4<<>EF<, E?5F<4?<7<D>64==O<< >ED4==LL<

>D74=<74F<O<<).
'11.2. .-> ?D<5<>< 7t6>�G5�=>7> EFD><F5?LEF6>< �5NU>F4 ?> �>7G > ?D<5<>5

6O?>?=5==LD( D45>F 74 ?>E?54=<= >FG5F=O= ?5D<>4 < �>ry ?D<5<>< 74>>=G5==>7>

EFD><F5?LEF6>� >5N5>F4 ?D<5<>G=>� >><<EE<5� (D>D<4 �%-14) D<E> 57� %�GT 4==>= 7<55?<

<?< ?>6D5645=<O =5E5F �>4DO4G<>.

12. �F65FEF65==>EFL %F>D>=

|2,1. �4 =5<E?>?=5=<5 <JI< =5=44?564M55 <E?>?=5=<5 GE?>6<= =4EF>OM57>

>>=FD4>F4 EF>D>=O =5EGF >F65FEF65==>EFL 6 E>>F65FEF6<< E 45=EF6GNM<< 74>>=>44F5?LEF6><

$>EE<=E>>= $545D4F<<.
�>7<5M5=<5 GM5D54, G5OF>>6 < G??4F4 LFD4D>6 < ?5=5= =5 >E6>5>6445F 6<=>6=GN

EF>D>=G >F 6O?>?=5=<O E6><E >5O74F5?LEF6 ?> �>=F4>FG.
12.2. $47<5D LFD4D4, =4G<EJuI5<>7> 6 E?GG45 =5=44?564M57> <E?>?=5=<O �4>47G<>><,

=5<E?>?=5=<O <?< =5=44?564M57> <E?>?=5=<O �>4DO4G<>>< >5O74F5?LEF6, ?D54GE<>FD5==OE

�>=FD4>F>< (74 <E>JING5=<5< ?D>ED>G>< <E?>?=5=<O >5O74F5?LEF6 74>47G<>><,

�>4DO4G<>><), >?D545?O5FEO 6 E>>F65FEF6<< E �D46<?4<< >?D545?5=<O D47<5D4 LFD4D4,

=4G<E?O5<>7> 6 E?GG45 =5=44?564M57> <E?>?=5=<O 74>fftG<>><, =5<E?>?=5=<O <?<

=5}I44JI564M57> <E?>?=5=<O ?>EF46M<>>< (?>4DO4G<>><, <E?>?=<F5?5<) >5O74F5?LEF6,

?D54GE<>FD5==OE >>=FDa6F>< (74 <E>r?>G5=<5< ?D>ED>G>< <E?>JF=5=<O >5O74F5?LEF6

74>i7G<>><, ?>EF46M<>>< (?>4DO4G<>><, <E?>?=<F5?5<) (4L55 - �D46<?4), }F65D645==O<<
?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 30.08.20177. Ns 1042 (44;l55 -

?>EF4=>6?5=<5 �D46<F5?LEF64 $>EE<�E>>� $5?5D4F<< >F 30.08.20l77. N> l042).
l2.3. � E?GG45 ?D>ED>G>< <E?>?=5=<O �4>47G<>>< >5O74F5?LEF6, ?D54GE<>FD5==L6

�>=FD4>F><, 4 F4>65 6 <=OE E?GG<E =5<E?>?=5=<O <?< =5=44?564M57> <E?>?=5=<O
�4>47G<>>< >5O74F5?LEF6, ?D54GE<>F5==OE �>=FD4>7><, �>4DO4G<> 6?D465 ?>FD55>64FL

G??4FO =5GEF>5> (LFD4D>6, ?5=5=):
12.3.1. �5=O =4G<EJIO5FEO 74 >464O= 45=L ?D>ED>G>< <E?>?=5=<O >5O74F5?LEF6,

?D54GE<>FD5==OE �>=FD4>F><, =4G<=< E> 4=O, E?54GNM57> ?>E?5 4=O <EF5G5=<O

GEF4=>6?5==>7> �>=FD4>F>< ED>>4 <E?>?=5=<O >5O74F5?LEF6. �5=O GEF4=46?<645FEO 6 DF}<5D5
>4=>= FD5EE>F>= 45=EF6GNM5= =4 44FG G??4FO ?5=5= >JING56>= EF46>< I-{5=FD4?L=>7> 54=>4
$>EE<=E>>= $545D4F<< >F =5 G??4G5==>= 6 ED>> EG?{<O.

,12,3.2. �4 >464O= D4>F =5<E?>?=5=<O �4>47G<>>< >5O74F5?LEF6, ?D54GE<>FD5==OE
�>=FD4>F><, 74 <E>JING5=<5< ?D>ED>G>< <E?>?=5=<O >5O74F5?LEF6, ?D54GE<>F5==LD(
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�>=FD4>F><, �>4DO4G<> 6?D465 ?>FD55>64FL G??4FO LFD4D>6. $47<5D L7D4D4

GEF4=46?<645FEO � E}Nr<5, >?D545?5==>= 6 ?>DO4>5, GEF4=>6?5==>< �D46<?4<<,

GF65D645=6O<< ?>EFzl=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 30.08.20177. �
l042, < E>EF46?O5F:

4) 1000 DG5?5=, 5E?< F5=4 >>�F4>F4 =5 ?D56OL45F 3 <?=. DG5?5= (6>?NG<F5?L=>);

5) 5000 DG5?5=, 5E?< F5=4 >>=FD4>F4 E>EF46?O5F >F 3 <?=. DG5?5= 4> 50 <?=. DG5?5=
(6>?NG<F5?L=>);

6) 10000 DG5?5=, 5E?< F5=4 >>=F4>F4 E>EF46?O5F >F 50 <?=. DG5?5= 4> 100 <?=. DG5?5=
(6>?NG<F5?L=>);

7) 100000 DG5?5=, 5E?< F5=4 >>=FD4>74 ?D56OL45F l00 <?=. DG5?5=.
|2-4. � E?r{45 ?D>ED>G>< <E?>?=5=<O �>4DO4G<>>< >5O74F5?LEF6 (6 F>< G<E?5

74D4=F<==>7> >5O74F5?LEF64), ?D54GE<>lD5==OE �>=FD4>F><, 4 F4>65 6 <}tOE E?GGtLE

=5<E?>?=5=<O <?< =5=44?564M57> <E?>?�5=<O �>4DO4G<>>< >5O74F5rLEF6, ?D54GE<>F5==LrE
�>=FD4>F><, �4>47G<> =4?Dtl6?O5F �>4DO4G<>G F55>64=<5 >5 G??4F5 =5GEF>5> (LFD4D>6,

?5=5=):
,12.4.1. �5=O =4G<EJuI5FEO 74 >464O= 45=L ?D>ED>G><, <E?>?=5=<O �>4DO4G<>><

>5O74F5?LEF6, ?D54GE<>FD5==L?< �>=FD4>F><, =4G<=alO E> 4ItO, E?54GNM57> ?>E?5 4=O

<EF5G5�<O GEFil=>6?5}i=>7> �>=FD4>7>< ED>>4 <E?>?=5=<O >5O74F5?LEF6, < GEF4=46?<645F%O �

D47<5D5 >4=>= FD5EE>F>= 45=EF6}F>M5= =4 44FG G??4FO ?5=< >?NG56>= EF46>< I_{5=FD4?L=>7>

54=>4 $>EE<=E>>= $545D4G<< >F F5=O �>=FD4>F4 (>F45?L=>7> MF4?4 <E?>?=5=<O �>=FD4>F4),

G<5=LL5==>= =4 EG<<G, ?D>?>DF<>=4?L=GN >5N5<G >5O74F5?LEF6, ?D54GE<>FD5==OE

�>6FD4N>< (E>>F65FEF6lF>M<< >F45?L}tO< MF4?>< <E?>?=5=<O �>OFD4��4) � D4�&�'5%��

<E?>?=5==OE �>4DO?G<>><.
12,4.2. �4 >464O= D4>F =5<E?>?=5=<O <?< =5=44?564M57> <E?>?=5=<O �>4DO4G<>><

>5O74F5?LEF6, ?D54GE<>FD5==L6 �>=FD4>F><, 74 <E>JING5=<5< ?D>ED>G>< <E?>Ll5=<O

>5O74F5?LEF6 (6 F>< G<E?5 74D4=F<==>7> >5O74F5?LEF64), ?D54GE<>FD5==L?< �>=FD4?E7><,

�4>47G<> =4?D46?O5F �>?DO?G<>G FD55>64=<5 >5 G??4F5 LFD4D4. $47<5D LFD4D4

GEF4=46?<645FEO 6 ?>DO4>5, GEF4=>6?5==>< �D46<?4<<, G765D645==O<< ?>EF4=>6?5=<5<

�D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 30.08.20177. JD l042 < E>EF46?O5F:

4) lO ?D>F5=F>6 F5=O >>�FD4>F4 (MF4?4) 6 E?GG45, 5E?< F5=4 >>=FD4>74 (MF4?4) =5

?D56L??45F 3 <?=. DG5?5=;
' 
5) 5 ?D>F5=F>6 F5=O >>=FD4>F4 (MF4?4) 6 E?GG45, 5E?< F5=4 >,=FD4>74 (MF4?4) E>EF46?O5F

>F 3 <?=. DG5?5= 4> 50 <?=. DG5?5= (6>?NG<F5?L=>);

6) 1 ?D>G5=F G5=O >>=FD4>F4 (MF4?4) 6 E?GG45, 5E?< F5=4 >>=]D4>I4 (MF4?4) E>EF46JIO5F >F

50 <?=. DG5?5= 4> l00 <r?r. DG5?5= (6>?NG<F5?L=>);
7) 0,5 ?D>F5=F4 F5=O >>=FD4>F4 (MF4?4) 6 E?GG45, 5E?< F5=4 >>=FD4>F4 (MF4?4) E>EF46?O5F

>F l00 <?=. DG5?5= 4> 500 <?=. DG5?5= (6>?NG<F5?L=>);

?) 0,4 ?D>F5=F4 F5�O >>=FD4>F4 (MF4?4) 6 E?lG45, 5E?< F5=4 >>=FD4>F4 (MF4?4) E>EF46?O5F

>F 500 <?=. DG5?5= ?> l <?D?. DG5?5= (6>?NG<F5?L=>); -

|2.4.�. �4 >464O= D4>F =5<E?>?=5=<O <?< =5=44?564M57> <E?>?=5=<O �>4DO4G<>><
>5O74F5?LEF6, ?D54GE<>FD5==L?< �>=FD4>F><, >>F>DO5 =5 <<5NF EF><<>EF=>7> 6OD�D>5=<O,

D47<5D LFD4D4 GEF4=46?<645FEO 6 EG\{<5, >?D545?5==>= 6 ?>DO4>5, GEF4=>6?5==><
�D46<?4<<, GF65D645==O<< ?>EF4=>6?9=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F
30.08.20l77. Jlb 1042, < E>EF46?O5F:

4) 1000 DG5?5=, 5E?< F5=4 >>=FD4>F4 =5 ?D56LrL45F 3 <?=. DG5?5=;
5) 5000 DG5?5=, 5E?< F5=4 >>=FD4>F4 cocTaBJuIeT >F 3 <?=. DG5?5= 4> 50 <?=. DG5?5=

(6>?l>G<F5?L=>);
6) 10000 DG5?5=, 5E?< F5=4 >>=FD4>F4 E>EF46JIO5F >F 50 <?=. DG5?5= 4> 100 <?=. DG5?5=

(6>?NG<F5?L=>);
7) 100000 DG5?5=, 5E?< F5=4 >>=FD4r74 ?D56OL45F 100 <?=, DG5?5=.
12.5. 34 >464O= 45=L ?D>ED>t{>< <E?>?=5=<O �>4DO4G<>>< >5O74F5?LEF64

?D54GE<>FD5==>7> G4EFLN 30 EF4FL< 34 $545D<L=>7> 7al>>O4 Ns44-$�, =4G<EJIO5FEO ?5=O 6

D47<5D5, >?D545?5==>< 6 ?>DO4>5, GEF4Il>6?5==>< 6 ?G=>F5 12.4.1 =4EF>OM57> >>=FD4>F4.
l2.5. �4 =5=44?564M55 <E?>?=5=<5 �>4DO4G<>>< >5O74F5?LEF6 ?> 6LL>?=5=<N 6<4>6 <

>5N5<>6 D45>F ?> EFD><F5?LEF6G �5N5>F4, >?D545?5==LrE 6 ?G=>F5 4.2.13 �>=FD4>F4 <
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G>474==OE 6 �D<?>65=<< Ns5 > =4EF>OM5<G �>=FD4>FG, >>F>DO5 �>4DO4G<> >5O74=

6O?>?=<FL Etl<>EF>OF5?L=> 557 ?D<6?5G5=<O 4DG7<E ?<F, 74 <E>JlNG5=<5< 4>G5D=<E >5M5EF6

F4>>7> ?>4DO4G<>4, > <E?>?=5=<N E6><E >5O74F5?LEF6 ?> �>=FD4>FG, D47<5D LFD4D4

GEF4=46?<645FEO 6 D47<5D5 5 ?D>F5=F>6 EF><<>EF< G>474==LL D45>F.
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$>EEG4E>4O $5O5D4FuO179 046,301 179 046,70Lm

- �Du?>G=< GE??4=>6>q �l NVS023 "VTS" E
M?5>?DuG5E>u||l =4zD564m5?5r| l 2>�?, DutL?D>< 94,
74E?>=>>= 04?Gu>>< u Mu?4F G?D44l5=uO

17 404,97 $>EEG=E>4O $5O5D4FuO1 17 404,97Lm

-�O?OME=>= 65=mu?O?>D � 1 CFk2 50t?4E

1 253,26 $>EEG=E>4O $5O5D4FuO1 1 253,26Lm

-�?4?4= >5D4m=O= RS�250

495 887,93>>< ??5>E 495 887,932.2.|5
%5F< E6O7< (>ED4==4O E<7=4?<74F<O, E<EF5<4
G4E>D<>4G<<)

$>EEG4E>4O $6O5D4FuO21 847,071 21 847,07Lm

6 l?.G. >5>DGd>64=u5:
- ,>4D E <>=?44E=>= ?4=4NN 800*600*300
R5CE0869

$>EEG4E>4O $5d5D4FGO1 3 884,02 7 884,02Lm

-�G?Lt? >>=l?D>?O u G?D4<5=uO >EDq=FL?>E4D=Oi E
06GEE?D>G = O< �� u=du>4? >D 4G

$>EEG4E>4O $5O5D4FGO1 1 087,26 1 087,26
- �>=?D>?lt5D d6GE?D>6>d=>= ?u=uu E6O7u, <4D>4
"E2000->4?"

$>EEG4E>4O $5O5D4FuO22 138,792 1 1 069,40Lm
-�?>> D575D6uD>64tt=>5> ?um4=uO $��-24 �%�.55

5 706,754 1 426,69Lm
- �4t?4D5O 4>>G<G?O?>D=<, m?? ���-I7, l2B/ 5<>>E?L
17 ,&G

17 994,27 $>EEu=E>4O $5O5D4FGO1499,52Lm
-�765F>?5?L >ED4==O 4dD5E=O >5N4u=O >??u>>-
M?5>mD>==O=, <4D>4 "%2000-��" uE?. 02

7 010,58 $>EEG=E>4O $5O5D4FuO t5 1402,1"Lm
- �764F4?4FL >ED4==O= 4dD5E=O= >??u>>-
ut5>mD==Lt=, < 4D>4 "%2000-, ��"

8 062,66 $>EEG=E>4O $5d5D4FuO18 447,93
- � 5?F4?5qL >ED4==Oi =D5E=Lt=
< cl 2 = um>> > = m 4>? = O=, < 4D> 4' % 2 000-% � �'

$>EEG=E>4O $5d5D4FuO426,00 852,00Lm 2

- �?>>G D4765?6u?5?L=>-t 4?uD)/l>Mu5 ?u?4 �$��, d<
GG4E?>4 d6GE?D>6>d=>= ?u=uG E >>D>m>Gu
7EulO>4=u5u, D4Mu5D =5 54\55 56E38E20 <<

5l

Lm

I

Lm

Lm



l?m 242 96 242,96 >=D

1 5 605,33 $>EEG4E>4O $5O5D4FuOLm 1 15 605,33

- �5D6uG=O5 G4EO �'%-2

19 847,74 $>EEG=E>4O $5d5D4FuOuJm 7 2 835,39

$>EEG=E>4O $5d5D4FuO1 1 381 ,89 1 781 ,89
- �=m4?4 6Ott>E=4O d?O Eu?ED>=u74Fuu BpeMeHu >m

E?Gm=u>>6 GPS u �����%
6 796,04Lm 6 796,04-�E?>G=u> 55E?5D55>==>= D45>?O �$% Back-UPS 500

$>EEG=E>4O $5d5D4FGO4187,20 29 282,40uJm 7

- $4du>?Du5<=u> E D?tt>Fu5 M>EmD5==>5> >?>65F5=GO
?<D4 D?-248-I

>=D15 571,25Lm 2 224,46- %t?4Fu>=4D=O= GSM ?5rcD>= BQ24l0Poi?t

220 821 ,871 220 821,87
�>64D=< E<7=4?<74F<O

$>EEG=E>4O $5O5D4FuO27 792,06 23 392,06Lm 1

6 ?.G. >5>DGd>64=u5:
- ,>4D E <>=m4MtE=>= ?4=5?LN -�%-24

7 884,02 $>EEG=E>4O $6d5D4FuO1 7 884,02Lm
-�G?L? >>=mD>?O u G?D46]l5=l< >ED4==>-?>Mrc4D=Ll= E
d6GEE?D >G= btM � � uHbuK 4 ? >D ><

1 087,26 $>EEG=E>4O $5d5D4FuO1 1087,26Lm
- �>?mD>?tl5D d6GE?D>6>d=>= ?u=llu E6O7u, <4D>4
"E2000->4?"

3 018,87 $>EEU=E>4O $5d5D4FuO2 1509,42Lm
- �?>> >>=t?D>:tL=>-tlGE>>6>=, <4D>4 "% 2000-�� �"

1 1 069,40 $>EEG=E>4O $5U5D4FuO1 11 069,40Lm
- �?>> D575D6uD>64==>z> ?u?4=uO $��-24 �%�.55

2 852,82uJm 1 426,41
- �4?4D5O 4>>G-<G?Ol?>D?<, ?u? ���-l7, l28/ 5<>>Et?L

17 �/G
$>EEG=E>4O $5d5D4FuO659,74 5 274,704m 8- �765M4?5?L ?>MN4D=O= dO<>6>=: ,-��-43��

$>EEu4E>4O $5O5D4FuO900,15 4 500,76Lm 5

! �765F4?5?u ?>E4D=O5 DGG=O5 ��$ 5l 3-34� ucn0l
M?5>mD>>>=m4>?=Ll5 =D5E=O5 d?O ?u=Gu E4OMG >m

>>=mD><5D4 %2000-I��

$>EEG=E>4O $5d5D4FuO288,07 1 440,15uJm 5
- � ?>65M4m5lL E65?>76G>>6>= ?>:ltE4D=Lt=, <4D>4

"�?u>-3%-24"

2 504,33 $>EEG4E>4O $545D4FuO13 192,64Lm

- �?>65tF4?5N 76G>>6>=, .ttlDD>4 "�<>-24-��"

$>EEG=E>4O $5d5D4FuO5 425,89 2129,45

- �?>>4 D4765?6u?4lL=>-?l7Q|uD)?>Fu5 ?u?4 �$�3, d?O

GG4E?>4 06GE?D>6>d=>= ?u=uG E >>D>?>G<
7E4.O>4=u4u, D47<5D =5 5>?55 56E38E20 <<

$>EEu=E>4O $5d5D4FuO170,77 512,70Lm- � Du5>D ?Du4u=>->>=mD>?L=Oi >ED4==>-?>uE4D=O=,

52

�O>?NG4?5?G 46?><4?uG5E>u5: <lEK> �447-29 3$
l0�, E4D4>?5DuE?u>4 % 1

- �m>DGG=O5 G4ELt '�%-300�

Lm
1

7

>><??5>E2.2.|6

2

Lm
3



<qD>4: yK-BIUl4

,728,87 >=DLm 242,96

LF 1 1 658 307,1 3 1 658 307,1 3
-?5>FD>E=4565=<5

2.2.|,7

$>EEU=E>4O $5d5D4FGOFJm 2 519 780,49 1 038 760,98
6 t?.G. >5>DGd>64=u5:
- �$' ��'� E 4�$ =4 2004

5 538,55 $>EEG=E>4O $5O5D4FuOLm 2 2 769,28

- %G5mGu> M?5>mDuG5E>>= M=5Dzuu M?5>mD>==Lt=, :

mD5ED47=Lt= �5D>GDu= 230�R-03 CL E PLC ModeMoM,

5 (7, 5 ) � (>O= >?4DuD=O=)

�?>> 44<?=<EFD4F<6�>-5OF>6OE ?><5F5=<=
2.3

1 679 652,63 679 652,63LF2.7.|
$G=44<5=FO (6 F.G. 75<?O=O5 D45>FO)

LF 1 5 177 234,79 5177 234,79
�>=F46 <>4G?L�>7> 744=<O 44<<=<EFD4F<6=>-
5OF>6OE < 6E?><>74F5?L=OE ?><5F5=<=2.7.2

4 574 875,58 4 534 835,58 $>EEG=E>4O $5O5D4FuO>><??, 1

6 ?.G. >5>Dl?d>64=u5:
- ModyltbHoe 7d4?u5 4d<u=uEmD4mu6=>- 5Ltt?>6LtE G

6 E ?><>2qL 5? L = OE ?>< 5F 5 =u=

728 469,57LF 728 469,572.7.7

�6F><4F<74F<O

>=D1 74 169,02 74 169,02

6 ?.G. >5>DGd>64=u5:
- %uEm5u=O= 5?t>> �E5r Aspire &%-1660 DG,BGZER,

>=D1 1 204,89 1 204,89>><??
-�><tNF5>? <46u4?GD4 + <OlF?, Loqitech Desktop
��120 Black USB

>=D1 15 384,75 1 5 384,75Lm
- �>=u?>D Philips 240B7QPJEB (00/01) 24"

437,54Lm 1 477,54
- �q55?L %4,l5ED5� 5,DI4G$>?, 1.8<, %%-D$-5

>=D1 9 328,02 9 728,02- ��� Delta �gil>? VX ] 000l/� Mm
45 807,89Mm 1 45 807,89-�$' ?475D=>5 xerox %235

$>EEu=E>4O $555D4FuO1 118 485,08 1 18 485,08
37 767,91 37 763,91 $>EEGdE>4O $5O5D4FuO1- ,-uE?5mG5DE>>5 >D5$> ��-24 ���%-$��

$>EEG=E>4O $5d5D4FuO1 120 749,75 120 749,75
- &G<54 d?O ?Du=?5D4 &�1O0�-0607-�23 ] -�212
>>=EMD7>

24 565,07 �Gm>6E>4O $5E?G5?u>41 24 565,07
- �5E?D>6>d =>= <4DLDGt?u74m>D 3G/4G
RUT955T033Bo

7

- �O>lNG4m5Iu q6?>-v4L4G5E>u5: <IEK> �447-29 7$
10�, E4D>>?5DuEt?u>4 %

1

Lm

>=D

>=D

53



- �E?>G?u> ?u?4tlurl E D575D6uD>64=u5< ���5O�

1 5 675,97 5 675,97 D>EEG=E>4O $5>5 4 UO
- �>=?D>??5D �� �200-04-%5 1 45 281 ,30 45 281,70 $>EEG=E>4O $5O5D4FuO
- �6?><4?uG5E>u= 6O<NG4m5?L 49F79206 6
>><??5>f?5 1,|!u=4 ul=u-6E9-10-E G u=Ou>4?>D 75?5=O=
�E 230� lrys-bu63 >><?? 2 2 404,29 4 808,57 >=D
- �5E?D>6>d=>= < 4DLDG?u7>m>D 3G/4%
RUF955F0336> Lm 1 24 565,07 24 565,07 �Gm>6E>4O $5E?G5?U>4

4m 1 5 675,97 5 675,97 $>EEG=E>4O $5�5D4FGO
- �> =?D>?,?5D �� �2 00 -04-% 5 1 45 281 ,30 45 281 ,70 $>EEG=E>4O $5O5D4FuO
- �>??46>>6O= d4?Gu> GD>6=O H601-53 Lm 2 450,74 901 ,47 >=D
- !>t?Gu> m5<?5D4?GDO 6>7dG4,-&% 3005 L?m 1112,55 2 225,09 $>EEG=E>4O $5O5D4FuO
- � pozpaMMHoe >55El?5G5=u5 sE4d4-EuE?5<4 � � ��
F5?5<5E4=u>4 �4=F 1 11 589,79 11 589.39 $>EEG=E>4O $5d5D4FGO

2.1 �?>> ?D>tl76>4EF65==OE ?><₠M5=ltr'l

2.4.1

$G=44<5=FO (6 F.G. 75<?O=O5 D45>FO)
LF 1 253 403,15 253 403,15

2.4.2 �>=F46 5?>>4 ?D><76>4EF65==OE ?><5M5=<= LF 1 2 073 67 4,62 2 073 674,62
6 ?,G. >5>Dl?�>64=u5:

- �>D?tL=>5 7d4=u5 ?D>G76>dE?65==>2> =aErF4G5=GO >><?? 1 1 798 359,68 1 798 759,68 $>EEG=E>4O $5d5D4FuO

�4E>EL4O EF4lIFltO ?>6OL₠=<O 446JI5=?O

2.5
$G=44<5=FO (6 F.G. 75<?O=O5 D45>FO) LF 1

,134 835,23 134 835,23

z.5.2 �>=F46 =4E>E=>= EF4=F<< >>=F5==5D=>7> F<?4 LF 1 5 940 ,l29,05 5 940 129,05
6 ?.G. o5opydoBattue:
- �>6OEu?5N=< =4E>E=< E?4=FGO ��%-�>?uu5D 6
> > = m 5== 5D= >< u E ? >?= 5= uu Lm 1 5 625 944,50 5 625 944,50 $5E?G5?G>4 �5?4DGEL

z,6
�>=F46 D>F>>4F4??F<G5E><E Du?LFD>6 ?
6>EEF4=>&?5=?5 <5F4??><7>?OF<< 6 D₠l₠D6G4D4E
G<EF>= 6>4O 5<>>EFLN 2xl900M3

2,6.1

�>=F46 D>F>>4F4?rF7<G5E><E D<?LFD>6 6 D575D6G4D4E
G<EF>= 6>4O (2LF xl900M3) LF 2 1 606 901,74 3 2,17 803,48
6 ?.G. >5>DGd>64=G5:
- �><?q5>m $��""�MD>?4=D-�=D> �$3-2E450� �% L-
3-D7G" Lm 2 1 156 517,20 2 713 034,39 $>EEG=E>4O $5O5D4FGO

2.6.2

�>EEF4=>6?5=<5 <5Fiul?><7>?OF<< 6 D575D6G4D4E
G<EF>= 6>4O 5<>>EFLN 2xl900M3

LF 2 9 238 876,40 16 477 7 52,80
�?464 4. �5N5>7O M=5D75F<G5E>>7> E>7O=EF64

- �E?>G=u> ?u?4=uO E D575D6uD>64=u4u ���60�

Lm

2

Lm

2,5

!-
-

54



4.1 CcTtr M? =4565=rrO

4.1 l %5F< M?5>FD>E=4565=<O l0 >� 293 186,85 293 186,85

4.1.2 Ce,lrl M?5>FD>E=4565=<O 0,4 >� 413 452,17 413 452,17
6 ?,G. >5>DGO>64=u5:
- /Mu>G D4E?D5d5?ul?5JlL=O5 ?>E?>O==>z> ?>>4, ?u?
/$�-l00 �, E ?D5E?>?NE=*llG DG5u?L=u>4<G u
?D5d>ED4=u?5?O<u 6 1 738,63 10 471,77 $>EEG=E>4O $5O5D4FuO
&D4=ED>D<4F>DrrO5 ?>4EF4=F<< 2�&�� E
?>4>4NG5=<5< 6 EGM5EF6GNM5= FD4=ED>D<4F>D=>=
?>4EF4=F<< LF 6 015 469,94 6 015 469,94
6 ?.G, >5>DGd>64=G5:
- �><r?5>?=< d6GEmD4=ED >D.G4?>D? < ?>dE?4=FuO
2>F?=-250/ l0/0,4

Lm 1 5 425 054,04 5 425 054,04 $>EEG=E>4O $5�5D4FuO

�?464 5. �5N5>FO FD4IIE?>DF=>7> E>7Ot'iEF64 <
E6O]ll

5.1 'EFD>=EF6> ?>>DOF<O ?D>57?>6 (l l75M2) <2 1175 1905,54 2 239 015,24

5.2 E5F< E6O7<

6=5L=<5 E5F< E6O7< LF 1 134 125,02 134 125,02

5.2.2 �65L=<5 E5F< ?>64D=>= E<7=4?<74F<< LF 1 95 270,49 95 270.49

�?464 5. �4DG6=O5 ceFrt rr E>>DG65=<O

6.1 %5F< 6=GFDlt??>M44>G=O5

6.1 l %5F< E<EF5<O 6>4>E=4565=<O 6=GFD<??>M44>G=O5 LF 1 3 102 081 ,40 3 102 081 ,40

6,1,2 %5F< El?EF5<O >4=4?<74F<< 6=GFD<??>M44>G=O5 LF 1 2 526 585,40 2 526 585,40

6.2 []tl5??>L44>.t=O5 E5F< 6>4>>F65?5=I.1O

6.2.1

�4?>D=O= >>??5>F>D ?D><O6=OE 6>4 (GG4EF>>
>F>DOF>= ?D>>Jl44><, >>?>4FO) 1 707 606,30 707 606,30

6.2.2
�D>>?4?>4 FDG5>?D>6>44 <5F>4>< 7>D<7>=F<L=>-
=4?D46?5==O< 5}F5=<5< .-l 60 2239,1 19 441 ,91 43 532 379,78

6.2.7
�D>>?4?>4 FDG5>?D>6>44 <5F>4>< 7>D<7>=F4?L=>-
=4?D46?5==O< 5GD5=<5< � �55

l

63,5 538 314,54 34 182 973,52

6.7 ��% E 5GD5D�>= 5<>>EFLN < >>?>4F5<

6.7 I
$G=44<5=FO (6 F.G. 75<?O=O5 D45>FO) LF 1 612 968,38 612 968,38
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LF
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�>=F46 >4=4?<74F<>==>= =4E>E=>= EF4=F<< < >>?>4F4
6.7.2 >4><E 1LF 6 069 049 6 069 049 59

6 ?,G. >5>DGU>64=u5:
- �6?><4?GG5E>4O >4=?IJlG74Fu>==ltO F4E>Ell4O E?4=F?,lO
E?4>4==>z> ?u?4 "��%-�>?u<5D" 6 dqa Kopflyclou
uE?>ll=56GG uJm 1 4 799 596,72 4 799 596,32 $5E?G5?u>4 �5?4DGEL
- �>?>d5F E D4EE>�><5D><

Lm 1 927 121,57 927 121,57 $>EEG=E>4O $5d5D4FuO
f?464 7. �5N5>7O 5?47>GEFD>=EF64

7.1 �?47>GEFD>r-rEF6> ??>M44>?

7.1,1

'EFD>=EF6> 65DF<>4?L=>= LI4=<D>6>< >4 ??>M44>5
6>4>?D>6>4=OE E>>DG65=<= (>5N5< =54>EF4NM57>
7DG=F4 962<3) LF 1 520 107,69 520 107,69

7 .|.2

'EFD>=EF6> >75?5=5=<O =4 ??>M44>5 6>4>?D>6>4=OE
E>>DG65=<= <2 460 345,09 158 742,06

1 .| .7 <2 74 5 267 ,27 389 778,09

1.1.4

�?>M44>4 4rO E5>D4 <GE>D4 9,5<2

LF 1 35 841 ,,13 35 841 

"l7
7.1.5

'D=4 65?57>55F>==iUi ?DO<>G7>?L=4O E D4>7}?=>=
>F45?>>= LF 1 3 202,25 3 202,25

,7 
.1.6 LF 1 6 341,94 6 341,94

1 .|.,7
�F>DOF4O EF>O=>4 66,25<2 <2 66,25 1685.50 11,1 664,08

7.1.8 'EFD>=EF6> >7D4645=<O 64DG6=>5 810 9?M,62 748 134,95
'EF>=EF6> >7?4645=<O 6=GFD5==55 680 2 682,71 1 824 243,59

7.1.10 LF 1 1 301 238,35 1 301 238,35

1.2

�4DG6=>5 >E65M5=<5 ??>M44>< 6>4>?D>6>4=OE
E>>DG65=<= (E65F<?L=L>< ?> >?>D4< - 32LF,
?D>65>7>D -4LF) LF 1 4 238 826,55 4 238 826,55
6 ?,G. >5>Dl?d>64=u5 :
- �O<NGq?5lG =45DG7>u (D4m5du=um5?G), ?u? ��-32,
mD5E?>:lNE=O5, G><u=<L=O= m>> 40 �

Lm 1 244,06 244,06 $>EEG=E>4O $5�5D4FuO
-�O<NG4?5?G 46?><4?GG5E>u5: % l85<IEK> �447-
l00 3$ 5�, E4D4>?5DuEt?u>4 %

Lm 2 909,72 1819,43 $>EEG=E>4O $5O5D4FuO

56

�>>DOF<5 FD>FG4D4 (58<2) ,??>M44>< 4?O >F4OE4
(l5<2) =4 ??>M44>5 6>4>?D>6>4=OE E>>DG65=?=

%>4<LO 5G?L64D=4O 557 E?<=>< �%-l

7 ,l .9



urm 81 ,21 2 598-87 >=D

tl

'Ftl?<74F<? EFD><F5?L=>7> Mycopi

F= 8,1 ,12 867,61 70 380,65
9,1 �?464 9. �GE>>=4?44>G=O5 D45>FO

9.1.1 II GE>>=4?44>GflO5 D45>Fu GEF4=>6>< 6>4>?>47>F>6><
LF 1 595 080,36 595 0�O,75

9-1.2

I lGE>>=4?44>G=O5 D45>FO M?5>FD>E=4565=<5 l0 >�F,
0.4 >�F

1
,l5 278,82 l5 2,18,82

9.1,7

GE>>=4?4?>G=O5 D45>FO ttapy6troe >E65M5=<5?

LF 1
,l 529,20 l 529,20

9.1.4
�GE>>=<4?>G=O5 D45>FO 6=1?D5==55

Beulel|tle < ErL>6>i| ?>64=<5)?5 LF 1 18 377,90 l8 377,90

9.I.5

?>4>?NG5=<5 '$->55774D4lE<64=ltO 6 744=<<77>
?>4NU<4

[l,jT 1 1 1 8,15,86 ll 8l5,86
1,1F>7> 72l !50 826,97

l I5 826 390,24
=llO5 ll 74lI 2>/. 6 427 016,54

72,1 577 E43,5l

65 5l4 768,70

797 088 5l2,2l

-/Fu> G?D4645=tu =4DGE=Orr >E65?F5=tt5< /'>960 l -
3574

�����'��:

?D54E544F5? (|->�% )

Lm 1 19 046.31 19 04 D>EEG4E>4O

? /!'��:

(�%�)>

%G44 4.</
($<>)

LtO

().7. /
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- �O>?t>G4?5?G >6m>r4,?uG5E*ttF <&��> Bi47jij&-
2�, E4D4>?5DuEt?u>4 %

MF

�F>7> (557 �{%)
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